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H.W Q.Ans(c) 8/3 Thanks sir for this awesome session , this session teaches me two new

concepts
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Chhavi Saxena 22 hours ago

Home work answer is option C (8/3)
Very Nice Session Sir Thanku so much
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H.W. answer is 8/3 ;) (¥ 1}
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MONOJIT 22 hours ago

8/3 is the answer..
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In the given figure, if AD = 12
cm, AE = 8 cm and EC = 14 cm, then
what is the value (in cm) of BD?
<1 T3 APpia |, afe AD = 12 941, AE
= 8 9.1l 9um EC = 14 |90 2, @ BD
&1 79 ([ ®) Far 87

(a) 50/3 (b) 15 (c) 8/3 (d) 44/3
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In the given fig. £BAC=4BCD AB=50cm &
BD=18cm, then find the ratio of perimeter

AABC & ABCD?
few atv T #, 2BAC=£BCD AB=50cm 3iX

('Imm BD=18cm d« f¥3[<T ABC 3R T33T BCD &
TIRATIT T ITATT AT F?

A
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In the given fig. BD=18, CD=12, BC=24 then
find ratio of perimeter of AADC and perimeter
of ABCD? (£BAC=4BCD)

feu st ™ A, 2BAC=4BCD 3i¥ BD=18,
CD=12, BC=24 r—laa ADC 31T ﬁalﬁr BCD
& GRATIT T 39T AT F2

A

a)7/9
b)6/7
c)13/18
d)2/3



If BC=9, CE=15, AC=4x-1, CD=5x+3 then x?
gfc BC=9, CE=15, AC=4x-1, CD=5x+3 dd X ol

HTeT gI3TT-
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Find the area of shaded region?

BII{ehd HTIT T &TThl [ehliord | BJEE




In the given fig. AB, EF and CD are parallel
lines, given that EG=5cm, GC=10cm and
DC=18cm. Calculate AC, if AB=15cm?

fewarT R™T & AB, EF 31T CD THATATAI WV &,

fSI9H EG =5cm, GC = 10cm 3 DC=18cm ¢ |

AC &Y IT0TAT &Y, T, AB = 15 AT 8?2
D




" Inthe given fig. AB| |PQ| |CD and
AB-CD=72cm & BP:PC=5:3 then find length of

PQ?
ferare ™= #, AB| |PQ| | CD 3iR AB-CD=72cm

& BP:PC=5:3 dd PQ &h! JT&dTS 4T gir?




In the given fig. BF|| CE and AF:FE:ED=6:3:2,
CE=6cm , EF=12cm, CD=10cm then find AB?

few arv ™7 A BF|| CE 3iX AF:FE:ED=6:3:2,
CE=6cm , EF=12cm, CD=10cm dd AB?

a)v1009
b)v801
c)v793
d)v921



In the given fig two squares of sides 8cm and
20cm are given. What is the area(in cm?) of
the shaded part?

fuare R &, QY aet &, fSierehr s svorer 8
A 31T 20 A B 1oTaifRa AT FT TR

a)120/7
b)160/7
c)180/7
d)240/13



In the given fig two squares with sides 12 and
13 are arranged then find the area of shaded
region?

few a1w o #, & @t ToTeTeh 87aTIT shaAer: 12
3T 13 & ™ A uaf¥ua g, oraifehd AT &
STl AT hITAd

a)245/24
b)35/4

c)252/25
d)273/17



In the adjoining fig. side of larger square is
15cm and side of smaller square is 9cm then
find area of shaded region?

Toldd T A, a's"a?‘rﬁraim 15 QHT AT BIC
I T 8T 9 QAT &, TF BTTehd T HT

a)5625/208
b)7200/315
c)13824/529
d)4225/136



